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PART - A : Marks : 40
0 — 3 FFE ;40

Note Attempt all the twenty questions. Each question carries 2 marks. Answer should
not exceed 15 words.

e e 20 Uy F T AR TEE uw ¥ R 3 o PefE ¥ T gu gl

U e T A e
{  Define the term "Teeming and Lading”. -
i g Wi e W gfonfa i) /

/ /
/ /
__/ /
/

2 What is the responsibility o auditor in test checking ?
e WiEm % ey ¥ oofbfw @ o SeREnaa/E ¢

/ / |
/ /

/ /
/

3 What are the/ disqualifications fgr appointment of a statutory auditor of a company ?
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Which books are included in statutory books of a company ?

el o) e g W Re qEel @ At e SR %7

RS, , ,

/

2 seseribe the provision of Section 233 (B) (11) of the Indigh Companies Act, 1956,
s eyt erfalEE, 1956 aﬁ;;iwé 233 (@) (11) % AEa™ & gaasy|

/ /

/ /

/ /
[/

who hes nght for fsupplementary audif in a government company ?

<

] / -
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7 Ram started business investing Rs. 10,00,000 with which he purchased machinery iy
Rs. 4,00,000 and maintained the balance in cash. 1f Ram draws Rs. 30,00 i i< -
use from business, what is present position of Balance Sheet on the basis of entity o o
™ 4 10 W 3. T g fear R & we 4 W@ e @ e wh e
Y me W I Ak oo Fell st % fw 50,000 B =mmaw @ Feen
UO% ARG W AGEUROT & ogER g 7 wome fefy @ oed ¢

8 A and B are partners in gAirm sharing profits and losseg/in the ratio of 3:2. ot vne!

~ are Rs. 60,000 and Ry 40,000 respectively. They admit C as a new parius v vl
rofits of the firm. C brings /i Rs. 25,000 as s capitsl Find o
above information.

TH A ¥ yyg/quM e 32 % ST H BU WEHER T | TTHI r:"T By e

0 % %1 3% @ ® T & w0 F Ay Ry wowd G o
HEM F T SN 25,000 ®. AN SUUSRT 4an @

(e




9 A cdmpany in the recently published prospectus for issuing 2,00,000 Equity Shares, otfi:s

to its present members holding 2,00,000 equity shares of Rs. 10 each; 1.00,000 IERTTHAS
Shares at par in proportion to 2 such Equity Shares against 4 shares held and the remainii;?
shares are put under public issue at a premium of 10%. Asgertain the value of figis
if these shares are bought and sold @ Rs. 25 on the stock exchange.
UF SN S o REEe 10 5. il qe A 200 6 e sish ¥ ura @ v
& ¥ yelg oS wREROT % mWeRd ¥ wwtad 2,00,000 sttem wwa sigl & Bovo
F ¥ 1,00,000 gHaT 3T WA T WY I &N T T4 s ¥ aad 2 g
i & o ¥ ofy wleT w1 Ty wed T gyl 5w wEa o R e
ghisr Niftms w0 fean sfyer @1 geatey Bifwe, afy g7 sl @ wey fafoer o
¥ ma faea 25 v W oiw ¥ e %l

10 What do you meap by "Firm Undgrwriting” ?

07-1] 6 iConid..,
A0



11

What is Super Profit ?
aiym ;& oy 7

12
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Redeemed 10,000 preference shares of Rs. 100 each at a premium of Rs. 12.50 per shares by
converting them into equity shares of Rs. 10 each issued at 10% discount. Pass the Jouina

Entries.
100 5. AT 10,000 YaTm sieit 1 9irem 12.50 B, gf ofst
3 e 2 ReaT T S 10 Wiew o 9X Fri ')

7 10 . 9l W st

P

What are the types of Anjalgamation :;;"s/ per AS. - 147

-f -
T HEE 14 ® qﬁwfﬁa—cﬁmwm%?
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15

Wiite names of any four industries in which unit costing method is applied.

%ﬁ'maﬁﬁ%mw%ﬁmf@ﬁm'a'imﬁwhwﬁﬁfmm%mWi%a

16

What is meant by 'Absolute Ton kny”

A

Name/ any four fupttional budgets.
R sl s ¥ am e

/

/

NONONLN N N NN NN TN TN TN N TN N N N N TN N N N NN

/

/
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18 How will you value the work-in-progress with reference to incomplete contracts

ool ¥w ¥ wed W un wE B qEET oM TR TR B 7

19 What is difference between joint product and co-proguct ?
Y9 AR T 9E-SME /ﬁw AL & 7

/ /:_
[ /

/
[ ]

20 What do you fmean by Flexible Budget ?

Aol a9 /4 AUt w3 Ee

I
/ /
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PART - B Marks : 60

AR — & _ 3% : 60

Note : Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed S0 words.

A Weqwsﬁ‘r%ﬁwé’rﬁﬁnmqw%qmﬁﬁﬁﬁ%
afm W& T TmRTy

21 Differentiate between Internal Check and Internal Audit.

st Priev @ enie iR ¥ X W @id |

Yo & W

22 What are the responsibiliti
Tl S % dEY |

of an Auditor regarding test checking ?
HE ® g e
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23 Give the decision taken in 'London and General Bank Case' in relation to misfeasance.

iel T % WY N W U9 WA a9 ww F R Y Py @ e w2

audit.
EL

24  Describe the cirgdmstances of speci
fagtw afpamr 9 uftRafdt =

/
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26 A4 Lid. forfetted 100 share of Rs. 10 each issued to B at a discount of 10% due to
non payment of first call of Rs. 3 per share and final call of 2 per share. Out of these.
50 shares were reissued to C at Rs. 8 per share as fully paid and the rest of these share

- were reissued to D at Rs. 7 per share as fully paid. Pass joutnal entries.

oA T Tw 'io%fgzwane'r&a 10 % WE% % 100 il a0 guUM A W 3
€ wia sy qan e A w2 B R syl e | @ g H B BT T
T &9 H & 50 ofy w8 % WRY iy W qof w0 # gt wT R aw
9w 7 6. W 7w P wew WM we R A s aRiieat Sifwal
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27  What do you mean by 'B-List’ coutributories and when does their liability arise 7

T SiSTETS § TR I SXE € 9E 9 WA B SO TRE 7

28
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29  Mention any two differences between 'Absolute Ton Km' and ‘Commercial Ton K

e = fFh qw aftRaes B ¥ e @ e sary)

7 v

30 Explain with example the method o lating abnér@al wastage.
SRE Hikd & Bl T AT by fafl gamy) 5

__/
/
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31 The foliowing details are available from the cost records of a‘single product company :

TOtAl OB oo e er e s ta e e s e e e e Rs. 4,20,000
Total Capital Employed........cocooiiiinnn Rs. 4,00,000
No. of units to be sold ..., 1,00,000 units
Desired Rate of Return on Capital Employed ............... 20%

Determine the selling price per unit of the product.

T € g B RE A w6 ave atvee ¥ Feaiieg R i ¥

T T covvovoereseeeresenssensse s ssssses 4,20,000 8.
et AP T, 4,00,000 .
T AN I FHETT Bl B eevirereeerevrninsivnnnnes 1,00,000
ffrifeT T W T B IRBE Wi 20%
39 SR W W SHE fUOmd TEE W1 MY 9w
/ -
/
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32 Three joint products X, ¥ and Z are produced in a manufacturing process. Additional
material, labour and overhead costs are incurred to bring it in a saleable condition. These
three joint products were sold for Rs. 40,000, Rs. 30,000 and Rs. 20,000 respectively.
You are required to apportion joint costs on different prodicts with the help of following

information :

Particulars X Y VA Total (Ry.}
Joint costs - : - - 50,000
Separate costs 6,000 4,000 4000 L7 14000
Percentage of Profit on Sales 30% 20% M -

6 IMET qieal ¥ 3 HYw oue-gew, o U9 a7 T 29 ¥ 3R R d@w e n
% WY 37 a9, W wd wulem @ efaRe T W E | Aw A uge
SIS HHST: 40,000 ¥., 30,000 T. T 20,000 T F :

| @ Fefatge el 8

st wa,/| % | g @ (5)
qgaq A - /- - 50,000
LCARCIN 6,000 4,000 000 14,000
P waw wowfem [ 30% 0% 0 40% -

AN
AN
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PART - C | | Marks : 100
i — 4 3FF 100

Note : Attempt any 5 questions. Each question carries 20 marks. Answer should not exceed
200 words.

w0 wE W o U BN Yde U & W 0 3%
aiftep el M amEl

¥ T oo FE U

33 "Vouching is the backbone of auditing”. In the Jight of this .stge€ment discuss the

importance of vouching, giving some case laws.
g el @ fo B TS B 3 Huw Eed Ao e w1 A BN
Ja7 36 Gy W Fw R @l 0 an
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34 "An auditor is a watchdog and not a blood hound." In the light of this statement narrate
the duties of a company auditor.

“uF eEE OOl BT AW FA b e ¥, Rl g % e e 5w ea @
@ ¥ (@Y U & olbue & wae SRl | |
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35

X and Y are running a partnership business. There Balance Sheet on 315t March, 2012
was as follows :
Balance Sheet

Liabilities Rs. | Assets Rs.

Sundry Liabilities 19,600| Cash at Bank 22,000
Capitals Debtors 20,000
- X 1 68,000 Stock 12,600
Y : 56,400 1,24, 400 | Furniture 28,000
Buildin ' 41,400

Goodwi 20,000

1,44,000 ) 1,44, 000

- that enough money should be introduced to enable X to

It was agreed that X should retire fydm the firm on 3)¥ March, 2012 and that
his son Z should join Y from the same dat€ for 1/3 shareAn profits. On 315 March,
2012 goodwill was valued at Rs. 48,000/and Building at B4, 48,000. It was also agreed
pald out and leave Rs. 20,000
cash by way of working capital. Y #nd Z were to prévide such sums as would make
their capitals proportionate to their/share of profits /X agreed to make a friendly loan
to Z by transfer from his capital Account of half the amount which Z had to provide.
Y and Z paid cash due from th¢ém on 7% April, /2012 and the amount due to X was
paid on the same day. Journalife the above trafisactions and prepare Partner's Capital
Accounts.

TR QF T T 9EEr)
THR o7 :

amv\%u'ln A, 2012 @ e fug 3w

Tl / . |/ amhmar 5.
Ty afirm 19,60¢| 9% ¥ =g 22.000
LG EREIES 20,000
Qs 68,000 (S4BT 12,600
q3 56,490 1,24/400 | wiiax | 28,000

| " EEC| | 41.400
AT 20,000

’ / 1,44,000 | 1,44,000

. 2012 aﬁmwﬁmﬂmmw JUT I
wm & fag o % w abefe @ 31 W, 2012
JUT wET W 48,000 T W RiHT f5a1 T 98 fremm
W A T w90 YEH @ s et 20,000
ﬂwwfsﬂatﬁﬁ%ﬁﬂqwﬁlsﬁmfwwméahﬁzwmﬁﬁﬁ
ﬁﬂ%@ﬁmmﬁ‘%ﬁ?mﬁwﬁﬁmﬁ!@giﬁﬁﬁﬁﬁmﬁaﬁWﬁdﬁl
fre e o S wW ¥ S @l Reangd s o ¥ e dar @ man aw
T 7 el 2012 ® e T &7 WRE @ TEE B R qm e @
Tﬂhwgrmmﬂﬁaeﬁﬁ?mﬁmlwfmﬁmaaﬁa%aﬁﬁw&r&maﬁq

qUT RN % /@[%ramﬁﬁrrm

%
:
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36 The following is the Balance sheet of X Ltd. as on 318t March, 2012 :

Share Capital Rs: | Fixed Assets Rs.
9,000, 7% Preference Kolkatta works 8,00,000
shares of Rs. 100 each Agra works 3 6,00,000
fully paid 9,00,000 | Investment for Workmen's

10,000 equity shares of Compensation Fund ~ 15,000
Rs. 100 each fully paid 10,00,000 | Current Assets /

A 6% Debentures (Secured Stock | /ﬁso,ooo
on Kolkatta works, 1,50,000 | Debtors // 2,350,000
B 6% Debentures (Secured Cash at /bank 50,000
on Agra works) 1,75,000 | Profit and Loss A/c. 2,00,000
Workmen's Compensation |
Fund .

Kolkatta works 10,000

Agra works 5,000

Creditors 1,25,00

23,65,000 23,65,000 -

A reconstruction scheme wis prepared’ and duly approved. The salient features o

the scheme were as follows
7% preference share to ¥e reduced/to Rs. 80, but the rate of dividend being raisvd

Rs. 10,
The Directors refunt Rs. 25,000 of the fees previously received by them.
Debenture holders/forego théir interest for Rs. 26,000 which is included among

is in arrears for the last three years. .
agreed to take over the Agra works at Rs. 2,50,000 and
1500 equity shares of Rs. 10 each at par, and upon their

The preference share holdérs agreed to waive their claims for preference share

forming cofhpany called Y Ltd. (to take over the Agra works,) they allotted 9000

(1)
to 8%. :
(i) Equity shares to be feduced t
(iit)
(iv)
the sundry creditfrs.
(v)
dividend whic
(vi) 'B' 6% Debenfure hy
to accept an/allotment
equity shates of Rs.
(vii)

1,000.

30

0 each fully paid at par (in Y Ltd.) to X Ltd.
Agra workmen's compensation fund disclosed that there were actual liability of Rs.
s consequenge the investments of the fund were realised to the extent of

balance of the capital reduction account is to be applied as two third (2/3)

write off the yalue of Kolkatta works and one third (1/3) to a capital reserve.

{Contd...
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wgw fafiRe @ 31 o/, 2012 & Tyzer Frafefed s@R & % ¢

o1 gt - &. | et wtoar 5.
9,000, 7 WieT@ AR BiAHA HRIE 8,00,000
3ts1 100 . wig afar | S | wrsmE © 6,00,000
T wed 9,00,000 -
10,000 go@m 3T 100 %, 15,000
y oisr Ul wew 10,00,000
“ar’ 6 witew woTOS 4.50,000
(el SR W gEE) | 1,50,000 7,50,000
‘g 6 wiayE FOES (3T 50,000
FEE 9 i) | #175,000 12,00,000
FHad el Hiy
PIAE RIS 10,000
AT HRIYWAT 5,000
[ REARY 1,25,000, .
73,635,900 | 33.65,000
pIECHC R LU
I = e ¥
Gy 7 ufayag gaifrere sigl . 9T B =X 8 widsTd a%
¥al & W)
(i) Hwar sigi B 10 %.
(iii) 000 &. w1 RAA T s ud ¥ wa Rey o
(iv) d ¥ o o fafry St o wiefwa @
(v) 3teT WIHIST % GE W W Bl GeHd BRI 6
£l
(vi) T ST % 2,50,000 %, TT WA @7 10 3. gl 1500 FHaT

| were B ¥4k I T A fhes % ¥ 50
(S ST I ® T HLN) S 10 6. AW qO T8

) = e X T Taies @ I B

(vii) TR ' W%Wﬁ?ﬂﬁﬁl,%@ﬁﬁimﬁﬁﬁimﬁﬁﬁl

A M Y g

(x) 4 g WA F S w D R WP saed SR $ R B e B
Wﬁ%mwam%%m%wﬁﬁwwa g ¥ AT fer
m

AEIE A Wanedi B
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37 The folIoWing figures are given to you :

Year Sales Profit/Loss
Rs. Rs.

2010-11 2,00,000 20,000 {Loss)

2011-12 5,00,000 40,000 (Profit)

Calulate

(i) .PN Ratio

(ii) Break Even Point

(it} Variable cost of each year .

(iv) Sales to earn a proﬁt of Rs. -S0,000 and

(v) Margin of Safety at a profit of Rs._,4,000.

Prefiias wid omeRy R Ta %

o fawa / /e
N/

2010-11 2,00,000 20,000 (&)

2011-12 5,00,900 40,000 (wT4)

T By -

() W™ AEn

(i) |

Gil) g&w/ a4 B aieadaig @

(iv)

0711

80000 ¥. =T &9

000 ©. & N

% fog g oy ok

& SU |

36
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38

07-1]

Find :

(i) Matenal Cost Variance

(i) Material Price Variance

(i) Material Usage Variance

(iv) Material Sub-usagé Variance

(v) Material Mix Variance, and
(vi) Mateiral Yield Variance from the following j
Material X - 240 kg. @ Rs. 5 per kg.
Material Y - 160 kg. @ Rs. 10 per kg.

Standard Yield - 280 kg. _ /
The actual mix and yield were as follows : | /
Material X - 244 kg, @ Rs. 5 per kfj /,//
Material Y - 176 kg. @ Rs. 10 per/kg. *
Actual yield - 308 kg. /
frffaa geem @ s g '
() wrEl @ faero (
i) = g R
(i) wRRT warT R
(iv) |rEl 99 AEn
(v) ey R ,
(vi) WPl SERR
Tl Ty - 2401?4:1. 5% Ui f%}rm.;a?ra?@f
o 9 - usof%n. 10 % whr fagt @ @
S B T @ A

/ 244 TEm. 5 % Fm & R
Tl 9. 176 ®eur. 10 %. femr. & = 9
IrEaE SR - 308 TR

40 :Contd..
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39 (a) Discuss the guidelines issued by the 'SEBI' for issue of bouns shares.

IE el & Frb ¥ fg 9d w0 9 R @ Ryt @ aole S

(b) Explain the method of calculating profit-on an incomplete contract with example.

wm%&wmzﬁrwaﬁﬁfaaﬁﬁm%m:
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SPACE FOR ROUGH WORK /¢ &1 ¥ fqu w2
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